DC-2

Part No 1346938

A Pentair Company Revised 3-3-99

T Gt e 8, L0 S T

Page 1/Dc-2/CAJ



REPLACEMENT PARTS

REF

NG  PART NUMBER DESCRIPTION

* 50-179 DUST COLLECTOR - 3/4 HP, CONST OF;
1 1342484 MOTOH

2 13499859 SWITCH

3 49-513 CORD SET

4 1342483 HOUSING - MOTOR SIDE

5 904-02-020-1704 3/8” LOCK WASHER

6 901-01-060-3104 3/8-16 X 1/2" HEX HD SCREW
7 801-01-060-0626 1/4-20 X 3/4” HEX HD SCREW
& 804-03-030-1757 1/4” EXT TOOTH WASHER

9 302-01-120-1034 1/4-20 HEX NUT

10 1346531 5/16-18 X 3/8" HEX SOC SET SCREW (See Service Note A)
11 1342482 FAN

12 1342485 DISCHARGE GUARD

13 1342481 HOUSING - INLET SIDE

14 1342486 BAG ELBOW

15 1342476 CLAMP

16 1342487 DUST BAG

17 50-194 4* X 10 FT HOSE

18 1342476 CLAMP

19 801-01-060-0611 1/4-20 X 1/2" HEX HD SCREW
20 8904-01-010-1604 5/168” FLAT WASHER

21 1342477 DRUM LID

22 410-06-116-0001 GASKET

23 1342488 DUST DEFLECTOR

24 804-01-010-1604 5/16" FLAT WASHER

25 904-03-060-1665 EXT TOOTH WASHER

26 902-01-120-1034 1/4-20 HEX NUT

27 1342478 DRUM

28 1342535 NAMEPLATE

29 1342480 CASTER BRACKET

30 1342479 CASTER

* NOT SHOWN ASSEMBLED

SERVICE NOTE:

A - When screw requires servicing install at 100 inch Ibs

STANDARD SAFETY EQUIPMENT

in order to promote tool safety, Delta International Machinery Corp. strictly enforces the policy of repairing or replacing any damaged or missing standard
safety equipment on machines presented to Delta Authorized Service Center for service/repairs. Any product which is presented 10 a Delta Authorized
Service Center for repairs which contains missing or damaged standard safety equipment will have that equipment repaired or replaced and the customer
will be charged for any such service/repairs. Customers can avoid such charges only if the missing safety component is supplied to the service center at

the time of repair.

This parts list is provided to aid in obtaining service parts. Copies of the instruction and maintenance literature can be obtained through the Delta Technical Publications
Department or through your local service outlet.

Page 2/Dc-2/CAJ



